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(b) Responsibility Accounting

(c) Transfer Pricing

(d) Z.erc Based Budgeting.
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All questions are compulsory. Each question

carries 15 marl<s. Marks of sub pans are

given at the end of each questiott
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1. (a) What is meant by cost control and cost reduction?
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Rs.62,000

1,24,000 hours

10

f,rrd rfiqur irzlr tlrrrtr e$fiq t qr snw t I 5d Bcftqq

3I{crhd trerq ,rrr Ei)

(b) Calculate from the following figures:

(i) Efficiency ratio

(ii) Activity ratio

(ii) Capacity ratio:

Budgeted Production 880 units
Standard hours per unit 10

Actual Production 750 units
Actual Working hours 6,000

Frqfdfufi Bffi tl
(D ffiq 3qqril

(ii) {frfqfq srtcrd

(iii) sTTdr 3rtcrd

ffi:
a-*&q sHrfi 880 units

cr{s qu) {Fd fs'r{ 10

qrsk+ rsrcq 750 il6r{
srRrks 6,rffiE qA 6,000

or (3TcIEr)

Write short nores on any three of the following:

(a) Performance Budget

5

(b) If margin of safety is Rs. 2,40,0fi) (402o of sales)
and P/V ratio is 3OVo of AB Ltd, calculate its (i)
break-even sales and (ii) amount pf profit on sales
of Rs. 9 lakhs.

qFq as ldf*e +1 g{Hr stcr 2,4o,ooo €o

(ftx.q sr 4o%) slh pAt qdcrd roz, t il eir*l
(D Tc-kdq F+mq nqr (iD 9 Ers ro *. rrq
trt Erq 6t qrxr *1 rrurtr +t&q I 5

(c) X Ltd has earned a contribution of Rs. 2,00,fi)0
and net profit of Rs; 1,50,000 on.sales of Rs.
8,00,000. What is its margin of safety?

x frfr|s t e,oo,ooo do * fiic rR 1,50,fiD tro

.E5I f;Frq t[rq aeII 2,00,q00 To iil frrRr{.i6rlm I

s€-+t grwr sicr f,r t z s

or (sTqEr)

(a) Define Management Accounting and explain its
objectives.

c-q-q+tq tsrsq A cfrqrfud qlFqq aqr ss*
st{q €Tflr{s I 5

(b) In what respects is Cost Accounting different
from Management Accounting?

arra *cirr f*c .rf,g$ fr r*-rrqi-q fu.-*.{ t
lq-{e? 5
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Indrrect labour Rs. 12,000

Indirect material Rs. 4,000

Semi-Variable overhead:
Power (30Vo fixed, TOVo variable) Rs. 20,000

Repair (60% flxed,4AVo variable) Rs. 2,000

Fixed overhead: (

Depreciation Rs. 11,000

Insurance Rs. 3,000

Others Rs. 10,000

Total overheads Rs.62,000

Estimated direct labour hours 1,24,000 hours.

8o7o (cflI mt q< Frqfrfim qfsSf t 3IIqR rR

sqfcqq + f€q dTfi {sa 6nr{q rqI 7o/o,8ovo

qtr goqo TiTq qilrfl ra-t q-< scft ct 61 tt"Hr

e1tuq,

qFtq-ffim sqft:
3$rEI{ ,FT Rs. 12,000

3TtrflSr SIIIqi Rs. 4,000

ed-clffi-q scR
vim (aoz, @I,lovo cfo+ffitr€)Rs.2o,ooo
Irtrrrir (60% Rn, a07, qffi-o Rs.2,000

3 t2rc

(c) The ratio of variabl<i cost to sales is 70Vo. The
break-even point occurs at 60Vo of the capacity

sales. Find ihe capacity sales when fixed costs are

Rs. 90,000. Also compute profit at 75Vo of the
capacity sales.

f+r,r oi{ qFrq-ffio Elrrnr isl srgcIil 7o7o A I

{q-H'q f{d cTrdr ffi + 6ovo 1\ arrar t r

sTrrdr fufi1 Fqrfdq tl-E fun c{FIiI 90,000 so t l

{rdr kfr} ills%o cl alq q1 Frslfdq I 5

cost,

3-crR ErFkr q q-qfir 6H-6 fi $q *ifsq r s

(b) In a factory, 100 workers are engaged and average

rate of wages is Rs. 5 per hour. Standard working
hours per week are 40 hours, standard outPut is

10 units per hour. During a week in February'
wages were paid for 50 workers @ Rs. 5 per hour,
10 workers @ Rs. 7 per hour and 40 workers @

Rs. 8 per hour. Actual output was 300 units. The
factory did not work for 5 hours due to breakdown
in the machinery.

Calculate labour cost variance, labour efficiency
variance and idle time variance.

q{ sKsr} i too qffi q,rft( t flqr q-S$t sl
ai-sd sr 5 do Tfr ria t r s.ff€ t qr++ qrfvft-e

qt +o t' drrr rrFrrr sf,n(Jr l0 5+ri xfr {a t r

s{-dt + rrS Ec+ q 1961 EFr tmrF{ so
P. T. O.
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Rs. 11,000

Rs. 3,000

Rs. 10,000
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2. (a) Differentiaie between Product cost and Period
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q-ffi d 5 ro {fd Eia, 16 6ffi +l z ro
xfr Eta aqr +o s'ffid qt s ro nfr Eizr t
F*'q rrqr I qrwf+ s-dTr({ 300 v+r{ qr r rTfll-+t

ei'q1q6 t +nq *'rqri i s ri) qrd +fi gur r

erq Errra flq-qrur, *q qffifl &-d{ur 3+q ftBq sry 1

Tq=RUI EN qq-A EFITST( I 10

Or (qeEII)

(a) Distinguish between Standard costing
Budgetary control.

qFrs eTrrRI rqr qq&q FrqTUr + er;fi +tfqq r

(b) A company currently manrrfactures 9600 units per
month of its only product and sells them at Rs.
l2O pet unit. Recently it agreed to a union
demand fot l1Vo increase in wages with effect' from next month. This will also incrdase the
variable overheads accordingly.

The details of current cost of production are as

follow5:

Cost per Unit (Rs.)

50

20

20

The company is considering the following strate-
gies to neutralize the increase in cost with a view
to maintaining profit at current level:

13 7216

tqn qra +qJ qrdq* n++ crd *, q< t ef,rr&

crd + kfi srdqn + 257o * srw{ ffi arftq r

1 Erilm, 2016 d &cK qt t:soo q*rfif 6q q
qTr

ffi qt qrc * era i rrfr cr qrd +d t r

sf,rq 4t nd6 {qr$ qi d xen +1 srcql snrrc

e} f+q qr*r { enqrqdrdr {'

srTfr a s tg

ffqfrB6kc

ni+s crE * erd t errrA cr6 + $fir<q si
qFrwrrm *1 soz, srcfl Aq t ilS qrtrq 

r

I s[i-d, 2ot6 d qE errqr+s-dr rrqfq nq t $
qt,ri 4 r

ffiq q{ 2016-17 st {qq frqrfr * ffi f{q
q-se +qR slfqq:

(i) {ulrtrfr rflrfi Tir.
(ii) sFrqt fr..q qslu (cEntrs e.:ra) |

5. (a) Draw up a flexible budget for overhead expenses
on the following data at 80Vo capacity level and
determine the overhead rates at 70Vo, 80Vo and,
9OVo plant capacity levels:

Variable overhead:

P. T. O.

4
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Direct Material
Direct Labour
Variable Overheads
(100Vo of Dfuect Labour)
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Prepare the following budgets for the first quarter

of the financial year 2016-.11:

(i) QuantitativeProductionBudget

(ii) MaterialPurchaseBudget (Quantitative).

ffiq q{ 2016-17 * xqq 6 rrfii * feq xv
fro I f{q F+nq qqa +fi f*.qr t:

f{fiq {w
cr6 16.r$

3Tild 54,ooo

{$ 78,ooo

qr 61'000

$dr{ 52'000

slrr€I 40,000

5 1216

(i) Raise 'producti<in and sales suitably without
changing the selling price. How much should

the sales be to mai4tain the same level of
profit?

(ii) Raise the selling price suitably, but maintain

production and sales at current level. To

attract dealers, increase the sales com-

mission. The variable selling overheads

increase by Rs. 4 per unit. Suggest a suitable

price to maintain the same level of profit.

(* S eflE 6HIi qrd 6q-fi qEqia rs+t sooo

{fir{qf xfd rn6 sr rflrfi q,{ {Et t st{ rQ rzo

5o ffi tq( cr +s (fi t r tre d fr sqi sc ds
d cf{ s} cnt Ec art-fl Tfi+ t gt at+ rs-q{r

t tsz, +t qk crfi r qst qRq-d-fi-q sqft-qq cl

ir(gun a-6 vr{} r

sffrfi 41 Tt&rr{ elrld m fq-{or f{tr t,

firrd trft {6,r$
(to)

trilsi sr{fr s0

Terql 9tq 20

cRE.d-{vfr-d sqFaqq ({dlqr lrc 
20

6t 10Vo)

orq d q-+qn kR rR qqrq {s} + f{sr t orm
+ fk qi xqmd-{ *'.{t + rds e.qfr f{qfdnsd

{UTflTf,qI q{ IefSR tF{ T6I €:

P. T. O.

t

r)

estimate of the next month. On 1st April, 2016

there were 13,500 units of the product at hand.

There is no work in progress at the end o[ any

month.

Every unit of the product requires two types of
material input in the following quantities: (

Material A 5 kg

Material B 6 kg

Material equal to 50/o ol the requirement of the
Dext moath's production is to be in hand at the
end of every month.

This requirement was adequately met on 1st April
2,016.
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(D E-x.q T€ s) qnsftfu H fdnr serfi e
ffi ei srg-* sq * a-6gr r anq * sS
wr+tqqrqrst*idCffiffi€Ifr
qrf6s ?

(ii) f{ffi +1c-d e} 3qT-< sq * e-6rcr rq
sarfi q ffi ei efcn Rr ${ q.trq rtm r

t**m t$r frrai q-qrvn a-6r+t ermfifu +rn r

qns-ffid frq.,q sqkqq t a ro qfd {sr{
+t qk r Errq 16r kR ffint {Et + fdq skd
qftcfl Eflr{q r 10

3. A paint manufacturing company manufactures
2,00,000 p.a. medium sized tins of Spray-Lac paints
when working at norrral capacity. It incurs the
following cost per unit:

11 t2i6

Fffi{q
f*x'a q,te xfd {sr{
qns-ffi{ qnrd xfr r6ri
cvftq E) rfd E6ri

TflIR B

Rs. 30

Rs. 18

3 hrs

erqn cRfurFdqf tqi t f{ qs q{ { A qt 5000

{drtdJ Blt{ s 41 +ooo rsr*{f t qnr ;rd M
qr s+fi t r fien drrrd 60,000 Fo t I

T6 sflrq frq ffioq + Frdd srrq d sTt'rIs-dq

et :rh ss qlqffc enq d ?Turfl qlfqq r 10

or(w[Er)

(a) What are the different methods for the measure-
ment of Divisional performance?

Eqrrn-q r<vH + crqt +1 fqfq-{ fqtlrqi wr dr

(b) XY Ltd has prepared the following sales budget
for the first six months of the financial year
2016-77:

Sales Budget

Month Uniu
April 54,000

M"y 78,000

June 61,000

July 52,OAO

August 40,000

Inventory of thc finished goods at the end r:[
every month is to be equal to 25Vo of sales

P. T. O.

Padiculars

Direct Materials

Direct Labour
Variable Overhead

Fixed Overhead

Total Product Cost per Unit

Rr.

7.80

2.10

2.50

4.00

16.50

Each unit of the product is sold for Rs.21 with
variable selling and administrative expenses of 60 paisa
per tin. During the next quarter only 10,000 units can
be produced and sold. Management plans to shut down
the plant estimating that the fixed manufacturing cost
can be reduced to Rs. 74,000 for the quarter.

When the plant is operating the Fixed Overheads are

t
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sc-fH< ffiqq t wr s{Rrq t z qq-r+*s
qrJ 61 qr+drq €r {r s

(b) A company has a plant capacity of 19,800 machine

hours. The plant can produce either product A or
product B or a mixlure of the two products. The

following relevant information is given:

Particulars Product A

Selling Price per Unit Rs. 45

Variable Cost per Unit Rs. 30

Machine hours per Unit 5 hrs.

Particulars Product B

Selling Price per Unit Rs. 30

Variable Cost Per Unit Rs. 18

Machine hours per Unit 3 hrs.

Market conditions are such that not more than

5,000 uriits of A and 4,000 units of B can be sold

in a year. Fixed costs are Rs. 60,000.

Calculate the product mix that will maximize thc

net income and find that maximum income.

15+ qffi di {?iz qrrdr 19,800 qvft+ qo) t r

rizi1 rflI( A o{ctql siqK B 3rrfl fff rer<l q.r

ftxq qrt sf,dr t r Frqffia xnitrr+ ga-+t

sq-tr=q t:
fu*tq sdlrq A

fs-fiq Ts xfr E*,r$ Rs' 45

qFa-ffio 6rrrd {Fd f{ri Rs.30

qyftq EQ xfd {+r$ 5 hrs

1216

incurred'at a unifoim rate throughout the yeir.
Additional costs of plant shut down for the quarter are

estimated at Rs. 14,0fi).

You are required:

(a) To express your opinion, along wittr the

calculations, as to whether the plant should be

shut down during the quarter.

(b) To calculate the shut down point for the quarter

in units of products (i.e., in terms of number of
tins).

qrqrq qTEril qi E5.rq 6{t Es S6 +€ FrCf',rfr t5,trI.s

d-+{ i-€ * qqq orr+'R + ffi *,1 3s6a 2,00,000

E{ xfr q{ +.cfr t r m frq arrrt xfr Eq,r{ qq +'rfr

?:

fr{rgr €o

neqr srsrfr 7.80

TIFT{ TEI 2.70

qRqffia sqR-qq 2.50

fun sqR-qq 4.00

tffi 3-flr< erTI( EFd E6ri 16.50

sflrq * 21 6o xft {dri t iqr qmr t aqr
qRe-ffif, F*q aqr xqlqfiq qq 66 $$ rfd fdl-{

t r ernft ffi I ftrd ro,ooo {+ri s-flrRd s +* qr

q6-fi t I xtr*Fr +1 +qcl s,r{sa +i {< 6,T} +1 t
T6 3f,{cE Crnt gq rs F€R 3firfir qFrd ffi +
fuq z+,ooo €o ir.F q-erql qr ss-frr t r

1
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Erdr iFKEnfl eqt il fu{ sqR-qq * qd q+.scn qr
qr dt t r ftrqrd + fdq qrcsri si q< 6{i st
eTfrftiF drrd 6r ii-{cn 14,ooo €o t I

errd BTrqvq-s-dr t:
(i) 3Tcl kqn ti a|, rppa3il * srq F* ffi i

*'Rsr+ * {< +'.crr qrRs qr c-d (

(ii) ror-{r q.{i +t B rcr< +i f*-r{d + fdqre t
fdqrd t {< 6r} m fu< grn f+ H d seqr
* q-tqrr;r 

15

or (qerEr)

A company at present is working at 90Vo capacity and
producing 13,500 units per year. It operates a flexible
budgetary control system. The following figures are
obtained from its budget:

Capacity 9OVo 700%;
Sales 15,00,000 16,00,000
Fixed nses 3,00,s00 3,00,500
Variable 1,45,000 1,49,500
Semi-fixed ex 97,500 1,00,400
Units manufactured 13,500 15,000

Labor and material cost per unit is constant under
present conditions. Profit margin is 107a of sales at
9OVo capacity.

(a) You are required to determine the differential
cost o[ producing 1500 units by increasing capacity
to 100va .

cfd fdr'€ xc arh slqfl arc T*qH qftferM d fen
t r xE" $rflr v( em *m fxq m n% A.l

(a) wrrd $rdr d tlovo d4 irqr6{ 1500 fdr$ 6r
( wf+ {,$ + ftrS rrrr{ (Differential) ErrRr r5r

f{sf{q q.rqr t r

' (b) r{E qH d <oil W fd fqtvfr SH EM 6M
t +rqt sc t qrq Fq tsoo {6rtd * Frcf" *
frq f*-s strd sl fuqnR{r qrtr qrt} ? 6

4. (a) What is meant by break-even analysis? Write the
, assumptions of break_even chart-

g ,,t6
(b) What pricts would you iecommend for export of

these 1500 units, taking into account that overseas
prices are much lower than the indigenous prices?

s{ I rs,soo 569fr qr rflrfi q.r rd t I ar6

ffi€ ffic{t fffaq xund +t ffir +.rd t r

sq+ {w + F{rc qt{B Frdil t:

(Tdr 9OVo IOOVo

kfiq 15,00,000 16,00,000

fun qq 3,00,500 3,00,500
qffiaqq 1,45,000 1,49,500

3q-fpR 6{q 97,500 1,00,400

13,500 15,000

(

1)

i

Ffitu {6dqf

I
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